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v o 2

(a x=1,y=2 b)) x=2,y=1
(c) x=1 y=-1 d x=3,y=2
{a b]{a —b:|
2.  TUHRA T 7
-b al|b a
2 2 i 2
() a“+b 0 ®) (a+b)* 0
0 a? + b2 (@a+b? 0
.2 2 0
© a“+b 0 @ a :|
aZ+b% 0 0 b
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(ii)

(iii)

(iv)

(v)

(vt)

(vii)

(viit)

(ix)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each.

There is no overall choice. However, an internal choice has been provided in

2 questions in Section B, 3 questions in Section C, 2 questions in Section D and
2 questions in Section E.

Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (MCQs) of 1 mark each.

ool o g

(a0 x=1,y=2 b)) x=2,y=1
(c) x=1 y=-1 d x=3,y=2

a bila —-b|.
The product is equal to :

—-b alflb a
ST _

(a) a“+b 2O \ (b) (a+b)2 0
0 a%+b (a+by 0
22412 0 a0

@ lazan? o @ o b
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3. uAATH T g R M AZ=AR, WA +A%-3A TR :
(a) I (b) A
(c) 2A d 31

4. A A=[1 2 3] B, df IR AA' B (ST&T A’ TT=g A &1 UiEd B)

1 0 O
(a) 14 (b) 0 2 0
0O 0 3
1 2 3
(c) 2 3 1 @ [14]
3 1 2
X+y Yy+z z+X
5. z X y HAM B
1 1 1
(@ 0 ® 1
() xX+y+z d 2x+y+2z)

6. %od fix) = | x|

(a) B SE 9dd 9 ATha-d 3 |
(b) hal i Tdd 9 TIRHT T3l 3 |
(¢) T g Tad 7, Wrg x = 0 hl BISHL AT & T8 FTheH1T 7 |

(d) T E 9ad 7, Ig ke wgl Wt & 7 |

7. ﬁy:sinz(xza)%,?ﬁj—yw%:
X

3 3

(a) 2 sin x3 cos x° (b) 3x3 sin x° cos x

(e) 6x2 sin x3 cos x° (d) 2x2sin? (x3)

65/4/1 ~~~~ Page 4
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3. If A is a square matrix and A? - A, then (I + A)2 —3Aisequal to:
(a) I (b) A
(c) 2A d 31

4, If a matrix A = [1 2 3], then the matrix AA’ (where A’ is the transpose

of A)is:
1 00
(a) 14 (b) 0 2 0
0 0 3
1 2 3
(c) 2 31 (d) [14]
3 1 2
X+y y+zZ Z+X
5. The value of | z X y | is
1 1 1
(a 0 b 1
() xX+y+z d 2x+y+2z)

6. The function f(x) = |x| is
(a)  continuous and differentiable everywhere.
(b)  continuous and differentiable nowhere.
(c) continuous everywhere, but differentiable everywhere except at x = 0.

(d) continuous everywhere, but differentiable nowhere.
. 9/,.3 dy . .
7. If y = sin“ (x°), then I is equal to :
X

(a) 2 sin x3 cos x3 (b) 3x3 sin x3 cos x3

3 cos x3 (d) 2x2sin? (x3)

65/4/1 ~~~~ Page 5 P.T.O.
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8. Ie5logxde%:

5 6
X X
— +C b — +C
(a) : + (b) 5 +
(¢) 5x4 + C d 6x°+C

a
9. i j3x2dx R e
0

(a) 2 (b) 4
(c) 8 (d 10
10.  3TIhd AHIHUT x g_y — y=2x? %I 5 L & T TuTHAT U B :

X

(a) e (b)
(c) X (d)

X
1
X

11.  37E%d GHiRm (&J2+(d—y)3=xsin(g—i) & Hife 7 g (afe aferfya 2)

dx? dx
W:?:
(a 2,2 b) 1,3
© 2,3 (@) 2,d7d aiTia &t

12.  @few 4i — 8k <1 fesn o weh umre wlew R
(a) %(4f_312)
b Lai—sk)
5

(©) %(4? _3k)
1
J5
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11.

12.
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J‘e5 logx 4x is equal to :

5 6
X X
— +C b — +C
(a) = + (b) 5 +
(e) 5x% + C d 6x°+C

a
If J‘ 3x2 dx = 8, then the value of ‘a’is :
0

(a) 2 b) 4
() 8 (d 10
The integrating factor for solving the differential equation
X g—z -y =2x2 is :
(a) e (b) eX

1
() x d =

X

The order and degree (if defined) of the differential equation,

2
2 3
(d 32’ } n (d_y) =x sin (%) respectively are :

dx X
(a) 2,2 b) 1,3
(c) 2,3 (d) 2, degree not defined

A N
A unit vector along the vector 4i — 3k is:

(a) %(4? _3k)

(b) %(4? _3f)

(©) %(4? _3k)
@ L@t _sk)
J5
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13. aﬁ‘cﬁaﬁ{sﬁ;amfé;aﬁawaﬁwe%,?ﬁ?.fzoﬁﬁawm,w:
(a) 0<e<g b)) 0<0<Z

(e) 0<6<m d 0<6<mn

14. g (p,q, ) h y-AF W 2 :
@ gq (b) Iq|

© lql +|r| @ p?+r?

15. 3TAHSH 3x + 5y <7 1 & U= & :
(a) @1 3x + by = 7T FEa forgati 1 gt IW W xy-ad
(b) %@T3x+5y=7mﬁ\%%§3ﬁ%W$q§[xy-ﬂF{

(c) @ 38x + by = 7 W o foigati 1 Bles a8 ga oen aa fored
He-forg oft 2 |
(d) I8 gaT 3yl qa SH qa-feg 181 2 |

16. Tfafed # & S fog Fe gHT SEfHeRTatl 1§ H @ ?
2x +y<10dAT x + 2y > 8
(a (2,4 (b) (3,2)
(0 (=5,6) d (4,2
17. H%@i@%ﬁeg-ﬁw(l,l,l)ﬁ,?ﬁ:
a a a
(a) O<axl1 (b) a>2

(¢ a>0 (d a=++3
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. - - > >
If 6 is the angle between two vectors a and b, then a . b >0 only
when :

T <<
(a) 0<€)<2 (b) 0_6_2

(¢) 0<0<m d 0<06<n

Distance of the point (p, q, r) from y-axis is :
(a) q (b) |q

© lal +|r| @ p?+r?

The solution set of the inequation 3x + 5y < 7 is :
(a)  whole xy-plane except the points lying on the line 3x + 5y = 7.
(b)  whole xy-plane along with the points lying on the line 3x + 5y = 7.

(c) open half plane containing the origin except the points of line
3x + 5y = 1.

(d)  open half plane not containing the origin.

Which of the following points satisfies both the inequations 2x + y < 10

and x + 2y > 8 ?

(a) (=2,4) (b) (3,2)
(c) (-5,6) d (4,2
. . . . 1 1 1
If the direction cosines of a line are (—, =, —j , then :
a a a
(a) O<ax<l1 (b) a>2
¢ a>0 d a=%3

~ N~~~ Page 9 P.T.O.
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18. A% T Sie &t TTiehdl % B, Sdfeh B T i shl JTreha %%’ | Tk &

T ol FdTd I 39 ST o IR el e a3 h IilResar @ -

7
(a) 2—0 (b)

3
(C) 2—0 (d)

Ak ol

Jo7 &I 19 3K 20 SYFYT Tq T SEIRT 97 & IN I I HT 1 P
8 | 3 w7 Y 7Y & ford v &1 7y (A) @91 GR F @ (R) GRT Sk a1 T
& 1 57 371 % T8l I 19 137 1T BIS] (), (b), (c) 3K (d) 7 & F7H FIrT |
(a)  HAfWHAA (A) 3R T (R) GHI Hal & 3 Tob (R), AWHAA (A) H €&l
ST LT & |

(b)  3MHHAH (A) 3R Tk (R) GHI Hal 7, Tg b (R), JANTHAT (A) 1 Fal
SATEAT FgT Hidl 2 |

(c) AR (A) TE g a1 T (R) Teid 7 |
(@)  3feRUT (A) Teid & 9T a9 (R) @8 2 |

19. 37y (A): Al HRd Bl % 9 I § JhH BMd @ |

T (R) : tan! x % fREfl x € R & foTT SIohm 1 AT 7 |
. > O > >
20. JYFIT(A): W r =aj+ xbl?r?ﬂr _a2+ub2 TWER A9aq 8, 6
> o
by .by=0% |
e > o> o
#(R) %@Te’:ﬁ r =a1+kb16911r =8.2+|.,Lb2 %F»Eﬁ?lt‘ﬂ?ﬁme,
- -
b, . b,
cos 6 =——— TR 9 B |
1oy 1D, |

65/4/1 ~ e~~~ Page 10
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18. The probability that A speaks the truth is % and that of B speaking the
truth is % The probability that they contradict each other in stating the

same fact is :
e
20
3
20

(a) (b)

(c) (d)

(S BN

Questions number 19 and 20 are Assertion and Reason based questions carrying
1 mark each. Two statements are given, one labelled Assertion (A) and the other
labelled Reason (R). Select the correct answer from the codes (a), (b), (c) and (d)
as given below.
(a)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(c)  Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.

19. Assertion (A) : All trigonometric functions have their inverses over their

respective domains.

Reason (R): The inverse of tan—1 x exists for some x € R.

_ _ — - — - - —>
20. Assertion (A): The lines r = aj+ Ab;y and r = ag+ pbg are

_ > o
perpendicular, when by . by = 0.

, - > -
Reason (R): The angle 6 between the lines r =a;+2ib; and
- o
-> - o S b, . b,
r = ag+uby isgiven by cos 0 =———
A

65/4/1 ~~~~ Page 11 P.T.O.
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LCLCRC|
39 GUg 4 37fq Tg-F70F (VSA) FBR & T97 8, 78 F9% & 2 3% & |

21. (%) y=sin"1(x2-4)F I A HINT |
AT

(@) ¥H T I :
cos™! [cos (— 7—“)]
3
22. qﬁ(x2+y2)2=xy%,?ﬁg—yﬁﬁﬁﬁml
X
23.  f(x) =5 + sin 2x G JGd %aH o Afehad o =JqH HH AT T |

24. H%H%sr?+§+ﬁwaﬁsrp?+§—21§qtsrt%tr%%,aﬁpw/%m

I HIY |
25. (%) fog (2, 1, 3) ¥ BT IH dlﬂr\lﬁmi'@TC”ﬁXIlzy;ZZZ;:g;
2o =22 3 % i v v e whw i

AT

(@) Uh W@ o THH0 5x — 3 =15y + 7=3 — 10z 2 | 39 @1 &
fsp-whamed faftay o 39 W fod o forg o fgemes s hifsTg |

65/4/1 ~~~~ Page 12
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SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.

21. (a) Find the domain of y = sin™! (x2 — 4).
OR
(b)  Evaluate:

o)

22, If(x2+ y2)2 = xy, then find g—y .
X

23. Find the maximum and minimum values of the function given by

f(x) = 5 + sin 2x.

.. A N A A N ALl
24, If the projection of the vector i + j + k on the vector pi + j —2k is 3

then find the value(s) of p.

25. (a) Find the vector equation of the line passing through the point
(2, 1, 3) and perpendicular to both the lines

x-1 y-2 z-3 x
1 2 3 7 -3
OR
(b)  The equations of a line are 5x — 3 = 15y + 7 = 3 — 10z. Write the

direction cosines of the line and find the coordinates of a point

y_z
2 5

through which it passes.

65/4/1 ~~~~ Page 13 P.T.O.
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e

T[ueg T
37 GV § &TY-3F70F (SA) TR & F97 8, 578 4% & 3 3% & |
26. Td T :
x2yx+1
5 X
(X+1) (X+2)
27. (%) HH @ HINT
/2 -
jeZX(l_SIHZX)dX
1—cos 2x
n/4
SrrEn
(@) UM A HINT
2
[
1+5%
-2
28. (%) T HIWT
X
J. ° dx
\/5—4ex—e2X
S DE)
(@) UM A HINT
/2
J'\/sin x cos® x dx
0
29. (%) Waﬁwg—z=xly,y(1)=owﬁmwmaﬁﬁﬁl
St
(@) 3Tdshad THIRUT eX tan y dx + (1 — eX) sec? y dy = 0 &1 Yk &A JTd

s |

65/4/1 ~~~~ Page 14
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[Of40]
S5
SECTION C

This section comprises short answer (SA) type questions of 3 marks each.

26. Find:

x2 +x+1
I 5 dx
(x + 1) (x + 2)
27. (a) Evaluate :
n/2

02X (l—sm ZXJ dx
1—cos 2x
n/4

OR

(b) Evaluate :
2

J e
1+5%

-2

28. (a) Find :

X
j ° dx
\/5 —4eX — 2
OR

(b) Evaluate :
n/2

J‘\/sin x cos® x dx
0

29. (a) Find the particular solution of the differential equation

dy x+y
—= 1)=0.
dx > ¥y

OR
(b)  Find the general solution of the differential equation
eXtan y dx + (1 — %) sec? y dy = 0.

65/4/1 ~~~~ Page 15 P.T.O.
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FreafaRaa e U™ g9 &1 STAE g 8 hIfT
U X + 2y <8,
3x + 2y < 12,
X,y>0
% WA z = — 3x + 4y I FJqH T F1d HIT |

30 Seal 6l Th U § ¥, NaH 6 dc9 @9 7, 2 Sodl o Th Tl Agesdl
Teh-Ueh ohich LTI Higd fHertell T | @UE Sodi hl T&IAT hT ATRIhdT 5ied
1A ShifSTE, 37d: @ sl shl T ol H1ET [T ShilNg |

Qs ¥

349 GUS 7 3509 (LA) IHR & J97 &, 977 I35 &5 3% 3 /

32.

33.

34.

1 -1 2
WA=[O 2 -3 | @ ghH TIA HIWT | Fohd Al & T 4,
3 -2 4

Weaes affemor b x —y + 22=1; 2y — 32 =1; 3x — 2y + 4z = 3 &l &A
i |

THTRTH & T ¥, Waeld y2 = 4ax a7 35 ANV O R &7 +1 &b
Frd I |

(%) =fe N, @t s FEeT % = w1 i@ A & 99 Nx N 8§ th
HeY R, 39 TR IATNG 8 6 (a, b) R (¢, d), @ ad(b + ¢) = be(a + d).

gNse foh R U goddr 999 R |
Y
(@) nmf:mz—{—g}eu@, f(x)=3;}j_4 I 9RTTid Ush el B | gRIisT

for Uk Tehehl w3 | I8 Wt ST= hIfST foF £ Uk 3T=icsh o & A1
T3l |

65/4/1 ~ e~~~ Page 16
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30. Solve the following linear programming problem graphically :
Minimise : z = — 3x + 4y
subject to the constraints

X + 2y <8,
3x + 2y < 12,
x,y2>0.

31. From a lot of 30 bulbs which include 6 defective bulbs, a sample of
2 bulbs is drawn at random one by one with replacement. Find the
probability distribution of the number of defective bulbs and hence find

the mean number of defective bulbs.

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

1 -1 2
32. Find the inverse of the matrix A=|0 2 -3 |. Using the inverse,
3 -2 4

A_l, solve the system of linear equations

x—y+2z=1; 2y—-3z=1; 3x—2y+ 4z =3.
33. Using integration, find the area of the region bounded by the parabola
y2 = 4ax and its latus rectum.

34. (a) If N denotes the set of all natural numbers and R is the relation on
N x N defined by (a, b) R (c, d), if ad(b + ¢) = be(a + d). Show that R

is an equivalence relation.

OR

4

(b) Letf:R - {— g} — R be a function defined as f(x) = 3 ax

X+ 4

. Show

that f is a one-one function. Also, check whether f is an onto

function or not.

65/4/1 ~~~~ Page 17 P.T.O.
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35. (%) guse fop fafafaa W@ swwem yfaesdt 74 2 -

x—1 y+1 z-1 x+2 y-1 z+1
3 2 5 4 3 -2

AYAT
(@) @IS 2x =3y = — 2z AAT 6% = — y = — 4z % S BT IV 1A HIWT |

Qs g

39 GUS H 3 YHT 7T STETRT J97 &, 977 Jedsb & 4 7% 3 |

ThI0T AETAT - 1

36. WM f(x) Ush IAr&dfcieh U 1A BoAd & | dl SEehT

o T WE FT SEFES (LHD.) : Lf'(a) = lim -2 - =@
h—0 —h

o ard ug P @A (RH.D.) : Rf(a) = lim L2t (@)
h—0 h

Ty &, Th B f(x), x = a W FTh1T HEAdl 8 Ie x = a W 38 L.H.D.
3 R.H.D. &1 1feded 8 a4 g o0 7 |

|x-3|,x>1
BT fix)=1x2 3x 13

222 k<1

4 2
& fou fFefafiaa geat & 3w dfSu .
(i) fix)®Ix =19 W 9& & 37ahes (R.H.D.) F18 2 1
(i) fix)hTx = 1T ¢ Y& 1 3aehedsl (L.H.D.) FT & ? 1
(i) () <" HIST fh M x = 1 W HeH f(x) ATHAT 8 | 2

ST

(i) (@) f£/(2) AT (- 1) T HIT | 2

65/4/1 ~ e~~~ Page 18
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35. (a) Show that the following lines do not intersect each other :
x-1 y+1 z-1 x+2 y-1 z+1
3 2 5 4 3 -2
OR

(b)  Find the angle between the lines
2x =3y=—zand 6x =—y =—4z.

SECTION E
This section comprises 3 case study based questions of 4 marks each.

Case Study -1

36. Let f(x) be a real valued function. Then its

e Left Hand Derivative (LHD.) : Lf'(a) = lim -2~ =@
h—0 -h
f(a + h) — f(a)

o Right Hand Derivative (R.H.D.) : Rf’(a) = lim
h—0 h
Also, a function f(x) is said to be differentiable at x = a if its L.H.D. and
R.H.D. at x = a exist and both are equal.
|x -3 |, x>1
For the function f(x)=9x2 3x 13

22222 k<l

4 2 4

answer the following questions :

(1) What is RH.D. of f{x) atx=17? 1

(11) WhatisLHD.off(x)atx=17? 1

(111) (a) Check if the function f(x) is differentiable at x = 1. 2
OR

(iii) (b) Find f’(2) and f'(- 1). 2

65/4/1 ~~~~ Page 19 P.T.O.
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ThIOT FAEFAIA - 2

Teh Mo s aTcll 3heR, Teh WAl W 4 FAC AT Tkl & hl | AdT B |

FSATA o I 98 & AU % HMH T T 3T I Hl TRHAT 0-65 2 | 95d |

gigeni o 7 8H W W HF % T9T W YU F T HI TRERAT 0-35 7 | G
siftrenl & ST T T W S U W G H shT ITRehdT1 0-80 7 |

HET : By : FEUd ST ¢ 36 91 Hl & 95 9 A0k HH T Tal AT

E, : F&Ud st 8 98 ge 9 asft sfies s w1 3R
E : fi&fta star 8 fo i wma o g 8 S @ |
3Uh AT % UR W, Feffad et % 3w G
() & &Rl o M W I hHT TTRHAT =1 7 ?
(i) R G W U B S bl IRl 1 R 2
(i) (@) T T 2 FoF e wwa WOqm & T, @ 9%d § AfHeRl % HW W

3T <hl ATRIehdT =1 8 2

AT

(i) (@) feam o g T *r ¥y W qU 8 @, a 9t AR o s W
3ufedra g <t ITfrehdt &= B 2
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@ collegebatch con

Case Study - 2
37. A building contractor undertakes a job to construct 4 flats on a plot along
with parking area. Due to strike the probability of many construction
workers not being present for the job is 0-65. The probability that many
are not present and still the work gets completed on time is 0-35. The
probability that work will be completed on time when all workers are

present is 0-80.

Let: E; :represent the event when many workers were not present for

the job;

Ey : represent the event when all workers were present; and

E : represent completing the construction work on time.
Based on the above information, answer the following questions :
1) What is the probability that all the workers are present for the job ? 1
(i1)  What is the probability that construction will be completed on time ? 1

(i1i)) (a) What is the probability that many workers are not present

given that the construction work is completed on time ? 2

OR

(i1i) (b) What is the probability that all workers were present given

that the construction job was completed on time ? 2
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ThIT AEFIT - 3

38. TS < fUar U 2t I AR Hl Th HIEE AhL, Teh JARIATHR F1 SHMT IT8d 8
feht s1eht 9 Tgel W R T 918 T =@TEd @ (SEn T O fomn ?)
3Geh ITE &S & foTw 200 Hiet Hl R 2 |

N,

& %5 & ! 3 i 117 slagisiaraR i fiibiiEi b .
e 1 H13 ) it i ; § 3
s - H 411 38 88 o 1 il H i ! 4
: 4 i ¥ i !
- H ; . i i ]
* ¥ £ : 3 i £i43
ot 2 : i i §
i i85

i
A
e 2
;;a-

(i) O 9F # 32 daR % dead @158 hl ddTs K Hiel g a1 g h
AR & U T158 I @18 v M B | F A et a <l AeTg H1
T (Hey) T HIT T 9 1 Fha Axx) ff fafae |

(i)  A(x) T 3fehdd AH F1d shIfaT |
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Case Study -3

38. Sooraj’s father wants to construct a rectangular garden using a brick wall
on one side of the garden and wire fencing for the other three sides as
shown in the figure. He has 200 metres of fencing wire.

Based on the above information, answer the following questions :

1) Let X* metres denote the length of the side of the garden
perpendicular to the brick wall and ‘y’ metres denote the length of
the side parallel to the brick wall. Determine the relation
representing the total length of fencing wire and also write A(x),

the area of the garden. 2

(i1) Determine the maximum value of A(x). 2
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